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PAPER WISE TERM - 2
CLASS - +2
SUBJECT - ECONOMICS

Time : 3 hours M.M. : 50
ﬁ'ﬁ'ﬂﬁé‘&T -

(Special Instruction)

1. Ul ok ST od HHA ST U9 WEAT W9 U WX g9TE
¥ | ST gRaent W @ Uy g fora e ¥

While answering your questions. you must indicate
onh your answer - book the question book the same

questions no as appear in your question paper.

2. ek U9 & G U & SO Teh & WM WD)

Attempt all parts of a questions at one places.
HET - 3 (Part - A)
HIE : U W& 1 ¥ 10 9k | feu Tq foshedi § W&t
farerea @1 oTa *Y
1. IoTee Fo (RSl TH o I o Hifder |EEl 9 Scared
F A ... GIY T e A€ |

(%) Hifasw (@) g
(M) & AR @ A (9) T 9 HIE T
(a) Physical (b)  Techinal

(c) Bothaandb (d) None of these

2. A IAR =
(h) MP xAL
(1) TPn-TP,,
Total Product =
(@) MPxAL
(c) TPn-TP,

3. Sid S =

ATR
() E

() ARxQ

ATR
@ aq

(c) ARxQ

(@) APxL
() T G FE T

(b) APxL
(d) None of these

TR
@ 5

(F) T Q FE T

(d) None of these

4. < TR 31feehad gIa1 € o MR =

() 1

CICEIED

(@) o

(%) RITHS

‘When TR is maximum item MR =

@ 1

(c) Postive

(b 0
(d) RUMHS
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5. TC=TFC+TVCS3TRTC =103 =0 dd TFC =?

B2
(%) TFC =0 (@) TFC =10
() TFC = 15 () TFC =20

TC = TFC + TVC If TC = 10, Production = 0 then
Calculate TFC

(a) TFC=0 (b) TEC =10
(c) TFC=15 () TFC =20

(%) FRUMHS (@) oS
(M o (%) T | i T
(a) Negative (b)  Postive
© O (d) None of these

(%) p=TC TR T

(@) p="TR - TC seFad

(7)) TR=TC

(%) &8 I T

(a) D= TC —TR is minimum

(b) p=TR-TCis maximum

(c) TR=TC (d) None of these

8.

10.

HAd fade (Price Discrimination ) T&rfd 59

(%) fafq=1 wart § T8E S
(@) fafy= shatstt 9 fafy= wimd
(M) & iR @ A

() 39 | &S T8

(a) Charges different buyer equal prices

(b) Charges different prices from different byuers
(c) Both(a)and (b)
(d) None of these

W I g Bl e atn S qrafh SIS BT Q|
SH ... g FEd T

() sifershad wiHd (Q@) e A
(1) g B (%) 319 9 HIE Tl
(a) Ceilingprice (b)  Floor prices

(c) Equilbrium PHO (d) None of these

........... THA Y TE sat © | T el o B gy

e ST IqHH Ik doh agrm ST Hehdl § |
(@) <rEw
() =9 9 FE T

() srequerer

CUEEIEE EE

1 X10=10
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11.

12.

13.

14.
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.............. is that period of time in which the supply of
goods can be increased only upto present stock of

goods.
(a) Short period (b) Long period
(c) Very short period (d) None of these
AT & At SR YO o quatteer § SR I 2

Differentiate between returns to factor and return to a

scale.
i o oI e SH H 3T T hifu |

Differentiate between Marginal Revenue and Average
Revenue

fgd TNYd sk U-3TehR o1 1 BT © 2 SATEAT hifsTy |

Why the Average cost curve is U-shaped explain it.

S FA siterd e
EEaERI] 3 T 3T
(O) (TR) (AR) (MR)

1 - 20 —

2 - 16 -

3 - 12 -

4 - 8 -

TR 3R MR & 3@ Ff | 3

Calculate TR and MR.

15. TRIFeRR) TfafiTar SR et =R faRreanet a1 guiF shifeg |

Explain the four features of the Monopolistic

competition. 5
Or
() =T A G A A Ehe € 2 2.5
What is meant by floor price.

(@) W T (3 2.5
P Q (supply)
4 80
5 120

%] 1 Yfd = 1 feRforg | (ES = 2)
Calculate the Es from the above table.
T -9
q1e: T TE&A1 16 ¥ 25 o H U ¢ foehedi § § =& fashed w1
AT

Note : Question numbers 16 to 25, choose the correct option

from the given alternatives. 1x10=10

16. o faf=m qorelt @ yomet 1 sed &1 s a5 &
fafma ... & P S e

Barter exchange system is that system in which goods

are exchanged with ........
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17.

18.

19.
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() AT (Money) (@) 95 (Goods)

(M) & IR @ Al (Money) () 3HF & FIE &1

Fiat money has got order from..................

(%) <N (Public)

(@) TR (Govt.)

(M) & &R @ M

(%) 3 9 &g Tl (None of these)
A H ooz b1 STTH e, eIl §

In India budget finicial year .............

(F) 1 S 9 31 fTeFw=R (1 January to 31 December)

(@) 1 3 | 31 71 (1st April to 31 March)
(1) 1 S W30S T (1 July to 30 June)
(9) T4 9 FiE 781 (None of above)

T q D W g BRI ?

(F) TR (@) fm =

(A1) THfg T (9) %] @ Gl

Which one is not the direct tax ?

(a) Income Tax (b) Corporate Tax

(c) Wealth Tax (d) GST

20. WfHe =1 (Primary Deficit)

() TSI oz - USTES aF

() F Torr - FA T (IR HT BEH)

(1) TSTRE G - Tt AT

() 38 q S Tl

(a) Revenue  Expenditure - Revenue receipt

(b) Total expenditure - Total receipt
(except borrowing)

(c) Fiscal Deficit - Interest payment

(d) None of these

. Tfed aee o

(%) TR o > wreardt o

(@) TN grr < SR 54
(1) TR g =T s
() ST H1E Tl

In Balanced budget

(a) Govt. Exp.>Govt Receipt
(b) Govt. Receiptg Govt. Exp.
(c) Govt. Exp. =Govt Receipt
(d) None of these



22.

23.

24.

25.
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Hgrfrliia o ST § -
Intruments of monetary policy are :
() arereme o+ Quantitative)
(@) ok 39 (Qualitative) A
(1) 3w (F) 3R (@) AT (Both (a) & (b)
(9) 3TH 9 =g 781 (None of these)
frrefafed § TR SiTa Tt i o § 2
(%) kUM sl st (Receovery of the loan)
(W) faf1a@ (Disinvestment)
(1) YR T 3= WG4 (Loan & other receipts)
(9) 3T 9T (All of the above)
it e e SR o TR § | T / 3TEA

Commercial Bank can issue currency. (True / False)

= ] T T8 e B TEH -

surplus budget is the budget in which :-

() TR T SATTHT oy SFHN T srfmafer s
(W) TR T STTHI g TR T et amr
(1) TR < STAM =77 = RN B sty a0
() ST IS Tal

26.

27.

28.

29.

30.

Surplus budget is the budget in which-

(a) Govt. estimated exp. > Govt. estimated Income
(b) Govt. estimated exp. < Govt estimated Income

(c) Govt. estimated exp. = Govt. estimated income

(d) None of above

oreq forfsm ST Y e % AR A i
Explain the difficultiesof the Bartar exchange System.
ok W e fewlt feafag

Write a note on Bank rate.

T SR ST U TN Ay

Differentiate between Direct and Indirect Taxes
BIFS AT SR Ae1 SIS H ST=R IS |
Differentiate between spot and forward Market.

T TgE ! IR e, 3R UfaHel e deer
! Sieh LA < ST 1 7o I | 5

Define the balance of payment and explain the measure

to correct the inequilibrium in the balance of payment.
q0
() =AfH siiwst & stz ST ) 25

ST =y — 60,000

YSTHTA =T — 30,000


ACADEMIC_02
Typewritten text
2

ACADEMIC_02
Typewritten text
2

ACADEMIC_02
Typewritten text
3

ACADEMIC_02
Typewritten text
3


33 (+1 & +2) July 2022 (New File) 10-7-2022
ST wgzperfr= 50,000

sfiere et~ 25,000
(a) Calculate the budget befecit from the following data
(i) Revenue Exp =60,000
(i)  Capital Exp =30,000
@) Revenue Receipt = 50,000
(iv) Capital Receipt =25,000
(@) SSC h EA Sl gy AU IS | 25

(b) Explain the main objectives of budget.



